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s#v DIRECTORATE OF SCHOOL EDUCATION
al TAMILNADU

1INPCBO8 | NEET PRACTICE QUESTIONS | _ “ %"
(2023-24) (TEST-8) Total Marks: 240
General Instructions: YOUTU be / Akwa Academy

1. The test 1s of 1.15 hrs duration and consists of 60 questions. Each question carries 4 marks. For each

incorrect response, one mark will be deducted

2. Shade your final answer in the OMR sheet provided.

3. Extra sheet for Rough work purpose, will be given by the invigilator.

PHYSICS Q.No. 1 to 15

1. A body of mass 10° kg moving with speed
2 ms™' collides with a body of mass 15 x 10° kg
inelastically and sticks to it. Then loss of kinetic
energy of the system will be

A)5KJ B) 15 KJ

C) 1.875K] D) 10 KJ

2 ms' GaussHev BSHIL 100 kg Bl MU 6TerT
@I QUITEHET 15 x 10° kg BlemMUETET LOMHC MT{TH
QUITBEBL6T WLFIWmm GCursHe) enl.bHSl
SSWLET RIS  Q&ETETHMS  ereflev
2em L6 @ W&ES mmedlev gmLIGID @LoLiL]

A)5KJ B) 15 KJ

C) 1.875 KJ D) 10 KJ

2 Two particles A and B, move with constant
velocities (V) and (V,). At the initial moment their
position vectors are (T, ) and (t,) respectively. The
condition for particles A and B for their collisions
1S

On—n=vi—Vv;
—3=- —a- — ——e

D) & 2 - 2" ¥
li—1| |va—w

A LDMHDILD B 6T6OTM @) SI&6T&6T (V IHDILD V)
eTeoTm Frmeor HenFCausHSH6V 68 (H S 60T M 6.
QLT 5 600T 5 &) 6V 26U Ml 6or 51606V
QeuELI&6T pemmGw (f,) whmih (T) WL
6TE0T16V A LDMMILD B SIS 6T&6r 60T GLOITS 8 & & TeoT
[B1L1 15 & 600 60T

A) TLWi=1.v

B 2\,
|E“E| |V:"V1|

3. If two bodies stick together after collision and
move as a single body, the collision is said to be

A) Pertectly elastic

B) Perfectly inelastic

C) Elastic

D) Inelastic

CuNMs&G&GL Uer @oeor(  QUITIHETSET
QRIMITS: LIN&SG&ETeor(H 60T GQUITIHETTS

B&HITHSMTEV, 2{HS GCLOMTH6V GLm& eV
6TeT S MU B M S,

A) e LS

B) LA WOLFlwimm
Q) LBLH

D) UL S lwmm
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4 A ball of mass M falls from a height h on a floor
and 1ts coefficient of restitution 1s €. The height
attained by the ball after two rebounds 1s

A) eh B) e*h

C) h/e? D) eh?

e O FwlerfliiL) @ etorssin Q& mevorL M mlemm | eTer
Uubg e h 2wWrSHAEhs Soule
lWHEMS. QUerh (M SIETETL 36D HS
UmS Shs UHS 4emLHS 2 WD

A) e’h B) e*h

C) h/e* D) eh?®

5. A ball of mass m collides with a wall with speed
v and rebounds on the same line with the same
speed. If the mass of the wall 1s taken as infinite,
then the work done by the ball on the wall is

A)0 B) 1/2 mv?

C) mv? D) 2my

m Blemym G\&MevoT L LIG S 6260TMI v B6U 8 & H 6V r6UlT
eeTmlev CLOMTH 2GS Causs T 6 26S CHITL Q60T
alwms GloLuuUs ma. seurfler mlenm weiled
6Te0T QIGITEuOTLITEY, Sreummleor WS LBHS QFULIS
Geuemev

A) 0 B) 1/2 my?

C) mv* D) 2myv

6. A mass of 10 g moving with a velocity of 100
cms™' strikes a pendulum bob of mass 10 g The
two masses stick together. The maximum height
reached by the system now 1s

A)S5cm B)25cm

C)0 D) 1.25 cm

100 cms™ HenFGaUsHSHev GFeLalD 10 g BleMM
60Tml 10g Blemm GG ITEUOTL. 2ETF 6V (&H600TL9.60T LG
CuMa®mma. @ueor(h BIEMMSEHID  660TMITSH
QL1985 QS TETH 60T MeT. SMHCUMSI @) H S 26 LDLIL]
2|60 L_HSI6M6T GILIIHLO 2 WL

A)5cm B) 2.5 cm

Q)0 D) 1.25 cm
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7. The bob A of a simple pendulum 1s released when
the string makes an angle of 45" with the vertical
It hits another bob B of the same material and
same mass kept at rest on the table. If the collision
1s elastic:

u‘

o A

B

A) Both A and B rise to the same height

B) A comes to rest and B moves with the same
velocity of A

C) Both A and B come to rest at B

D) Both A and B moves with the same velocity
of A

Seoll 21560 @TM60T 2aF6) G600T(H A ILETS
QEFRIGSHE  Hansuley 45  GHmeors H v
@ alssuu®mns. ©& Cuenswiler WS
MmaSSULULL 968 Bmleovm wWMHOWL CH
GILITHETTEVITEOT LOMGMT(H 2ENF 6V (&600T(hH B-@) 60T
W CLMERMS. GBS CLMse LILF GLMsHeums
QGBHS 6V

ﬁﬂ

o A

B

A)A LDMMID B 510 2 WTHMS 2L H M.

B) A @l Blemevenl L FMS LMmMID B
26018 A WiletT HemFCauFHS T 6L HHHHP MS.

C) A lnmmilh B @ evor(h\LD B-6V 62116 [Blemevem
LB M.

D) A oMM B @nevor(hild A 60T HemnFGous Hev
QFaLVHEMSI.

8. A bullet of mass m moving with velocity u passes
through a wooden block of mass M = nm as
shown 1n figure. The block 1s resting on a smooth
horizontal floor. After passing through the block,
velocity of the bullet becomes v. Its velocity
relative to the block is

=

s
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1+ =
A) ( Iln) B) vnu
C) (1+n)v—u D) (I+mu+v
n n

U HensFCassHH ey HEHEIHLD m Blemm Q& meoorL
G& ML LIT 6260TMI LIL & H 6V 2_6T6 LIl M = nm [Blemm
Q&MeooTL. OIS Sl aublmg: QEFHRMSI.
L0J& &L 60 L WITETS 62(IH 6L (LD 6 (Lp LI LI IT6OT
PemLDL L SHmSHeL euialley 2 6Temgl. LIS
SLeomLenw &HLbS UVUIme GCsmiLmeller
HenFGasld v LS5 LMTMIHME 6Tenflel B
D& SLeLemWL QUTMISS GsmLLmeller
5 e &FGeusLd

777777
(1+n) v—u
A) = B
C) (1+n)v—u D) (1 +tn)utv
n n

9. A particle of mass m moving with velocity u
collides elastically with a particle of mass 3m at
rest. After collision the heavier particle moves
with velocity

A)u/3
B) 2u
C) 3u

D) u/2

u HmsCassHev BHSHMW m  BHleOMU| 6L
QU QUITIHET elle] mlemevullev 2 6Tem  3m
BlemmWenLw QUITBEBLeT WLEF Gumsey
2L FH MG 6Tevl 16V GLOMSH GG L LI 60T 8&560TLO T60T
QUIT(HET H&HHLD HemFGeaussLD.

A)u/3
B) 2u
C) 3u

D) u/2

10. A billiard ball moving with a speed of 5 ms™
collides with an identical ball, originally at rest
[f the first ball stops dead after collision, then the
second ball will move forward with a speed of
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A) 10 ms™ B) 1 ms™

C) 5 ms*! D) 2.5 ms™!

Sms”! GausSHev QFeusln Llevellwil ubs
QR6TMI, QFTLESSH e@ule mlemeuuiley

2 6ol 2185 wWrHFlwmer UBS 660TDIL 60T
CUMasHma. CLTSGHEGL er WwsHev UBS

BlemevWns BIM&B M 6Tevflev @) etorLMeug LGS
6T CeoTMSH HS(HLD CeudsLD.

A) 10 ms™ B) I ms™

C)Sms! )2 yms

11. A ball strikes a horizontal floor at 45°. 25 % of
its kinetic energy is lost in collision. Find the
coefficient of restitution.

A) 112
B) 1/4
C) 1/2

D) 1/2+2

LFS eerm  Seopuler WEs HenLSser
Semguilev  45° GmmeuiSEHeL  CLMHPMS.
Cmsedletr GUIME 25% @QUESH HMeN6V S
QLsEHIME eeaflev WLFWelllL &Georss5ems
SITE00TS::

A) 1/42
B) 1/4
Q) 1/2

D) 1/2\2

12. A bullet of mass 20g and moving with 600 ms™!
collides with a block of mass 4 kg hanging with
the string. What 1s velocity of bullet when it
comes out of block, if block rises to height 0.2m
after collision?

A) 150 ms™ B) 300 ms™

C) 200 ms™ D) 400 ms™

20 g mlemm WML 600 ms! HenFGoudHSIL 60T
B&ML CHMTLLMT eerm &SWilm eernlev QFGTRIE S
Q& MeTOTIL(F&HGLD 4 kg Mlemmulemer SLemLuller WO
CuMsIHmsl. CLMEEEGL e sLemLwimers 0.2 19
2 WD 2 Wibsme SLenLenw L@ QeueflGw
(@B CUMSs oL LmelletT 5 emaGeudsLD 6T60T60T?

Copyright @ THE ALCHEMIST CONSULTANCY

Scanned with CamScanner

Kindly Send me Your Key Answer to Our email id - Padasalai.net@gmail.Com


https://www.whatsapp.com/channel/0029VaAqUqk9Bb672tBn033m
https://www.padasalai.net/

www.Padasalal.Net

A) 150 ms™ B) 300 ms™

C) 200 ms™! D) 400 ms™

13. Ablock of mass 0.50 kg 1s moving with a speed of
2 ms™' ona smooth surface, it strikes another mass
of 1 kg and then they move together as a single
body. The energy loss during the Collison 1s

A)0.67] B)0.16]

C)0.34) D) 1]

050 kg Blemm Q&MEOOTL 6@ &L 60 WITETS
6l (WU WLILImeoT LTLILI6L 2 ms™ eTeorm GousH &S 6v
B&HGH WS, 4G LOHAOTEG 1 kg Blenmuller LSz
CGMH Gy QUMIBETTSH BHHHRMSE 6revflev
GLongedler GUME gFMHUIL L MMV GLOLIL

A)0.67] B)0.16J

C)0.34] D) 1]

14. A particle of mass m moving with speed u collides
perfectly inelastically with another particle of
mass 2 m at rest. Find the loss of kinetic energy
of system in the collision.

A) 0 B) 1/3 mu?

C) 1/2 mu? D) 1/5 mu’

u GaussSHev HSHIHLD SISGET QTM U6
Blemevuiley 2 6iTem 2m BlemMULETET MG MITIH
Qumerfleor g W WLAWDHM GCMsedey
TFHLUOSPMS erevflev Gomgedler GUME gFmLI(BHILD
MMV @)LPLIEDLI &ITE00TSH

A) 0 B) 1/3 mu’

C) 172 my? D) 1/5 mu?

15. A ball falls from a height such that it strikes the
floor of lift at 10ms™. If lift is moving in the
upward direction with a velocity 1ms™, then
velocity with which the ball rebounds after

elastic collision will be
A) 13 ms™ B) 11 ms™!

C) 9 ms™ D) 12 ms™

www.Trb Tnpsc.Com

em Uil 2wrsHedmns  10ms
CausSH 6L AL LBS eTm Tms' CaushsH ey
Gev CBM&ESH BHIHLD OleTEHTSHH UI6T H6emsHSH 6V
CMaIHMmE erenflev LBS WLF CrseenL B
GGV RLDL|LD HlemnFGaussLD.

A) 13 ms™ B) 11 ms™

C) 9 ms™! D) 12 ms™

CHEMISTRY Q.No. 16 to 30

16. The radical Q— CH_- is aromatic because it
has,

A) 7P orbitals and 7 unpaired electors

B) 6P orbitals & 7 unpaired electrons
C) 6P orbitals & 6 unpaired electrons
D) 7P — orbitals & 6 unparted electrons

A <2 N —

S60T60 LOLL|60)L_LLI S5 6J @l 60T60T 16V,

A)7P Tl Lmev&seT WwHmID 7 Saflss
6TG16V S LT ITE0T & 61T

B)6P =urgUllLmeuser wWmmn 7 SHeoll&HEsS
6TE6V &S LT TEOT & 61T

C)6P iUl LmevSEeT WmMID 6 SflsHs
6TQGV S L_[J IT6OT S 61T

D) 7P UL LITV&GET WmmID 6 SHeflss

6TGIEV& LT TEOT S 61T

7. The structure of Isobutyl group in a organic
Componds is

A) CH,~CH,~CH,~CH

B G0
CH,~C—
I

CH

3

CH,
0) >CH—CH2—
CH,

D) CH~CH-CH,~CH,
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@M &l CFrwgHev NCFmT  LIwL emLev

2 miLILYetT emLOLIL] 6T60T LIS
A) CH,-CH,~CH —CH -

H.
B) C| :

CH,—C—
I
CH

3

CH:E
C) >CH—CHE—
CH,

D) CH,-CH-CH,—CH,

18. Some meta directing substituents 1s aromatic
substituents are gives. Uterich one is most
deactivating?

A)-COOH B)-NO,
C)-C=N D)-SO.H
21CIMELOL 198 LS ed (HLD allemeorserflev

Fov QULLT el BLESID OFTSH ST
SrUuL(eTermsrr. eummle) 618 W& AH&HIOMS
Q& WLVH MM 60T G MERMS.

A) -COOH B) -NO,

O-C=N D) -SO_H

19. Which of the following organic compounds
has same hybridisation as its combustion (CO,)
product?

A) Ethane B) Ethyne

C) ethene D) Ethanol

Hereund Siflin GFFNLW, Ssem LW eTiflZH6v
allemeoTLIQUT@GeTTHW CO, b Gy eallgLomeor
FHeVLILIN60TLD S &6m 6V G\LI M MI6ITETeoT?

A) IF &GS 60T B) FF & 60) & 60T

C) FF& 5601 D) 678555 60T T6V
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20. Which one 1s most reactive to wards nucleophilic
addition reaction?

— CHO
A)

©)

|
C-CH

&

CHO

C)

~9)-

CH

CHO

D)

<)

NO

2

H(H&HE6LT CFI&Hem& allemenrWilev W& H HLIOMSH
allemeor L|if] LD S560Tem Lo 60) L WIS 6TSI?

CHO
A)

NO

C-CH,

5

CHO

C)

~0)-

CH

CHO

(o)

NO
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21. Which of the following compounds will
undergoes racemisation when solution of KOH
hydrolysis?

A)@/

B) CH,—CH,~CH_—Cl

CH,C|

CH,
C) |

CH,~CH—CH,—Cl

CH

3

D) H—C—Cl

CEHS

KOH Q& metor(h) BrmmuUGSHG&SLILD Gungl LlereusLd
Gormsefley 68 &GRWML  SHeVehel WMEGLD
allemenTs @& 2 L UGS mS?

CH,CI
NOS
B) CH,~CH,~CH,~CI

CH,
C) |
CH,—~CH—CH,—Cl

22. In an SN, reaction as chiral Centres there 1s

A) 100% racemisation

B) Inversion more than retention leading to partial
racemisation

C) 100% retention

D) 100% inversion
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6056V 6m L0LILY 60T &I SN, el 6t 60T LI 60T HMTEGLD
A) 100% &rLAILOIT L &6V60)6U LTS 6V

B) @iemLoLIL] Blemev QLIMISEME (retention) eTH\ [

FOOFIWMHEL (Inversion) HHLOMTSHEVTEV
UGS & L0 LO T L & 606061 WM& (& & 606V
2 (HEUMHGSHMS.

C) 100% 2emLDLIL] [Blem6v GlLIMmISS6D

D) 100% <2J6mLDLIL] 6TE [T LDMI S 6V

23. Twopossiblesteiostructuresof CH,CHOHCOOH,
which are optically active are called.

A) Diastereomers B) Atrop Isomers

C) Enantiomers D) Mesomers

eeflé &pmoIL UeoryemLw CH,CHOH COOH
e @@ WUUFInmeor 6emDLIL|S6T 6TelU6 T
DL & &L ILIBY S 60T 60T?

A) LwmenviaflGwimnrg

B) LG mU G&FTLOI&EIT

C) @) coTedT FIGWIITLOT S 6T

D) LAG& MO IS ET

24 Consider the following compounds hyper
conjugation occurs in
CH, ph
P e |
I) CH,—C=CH—o) [1) ph—C—ph
[1I) @\
CH,
A) I only B) II only
C) III only D)l &1l
S etreu(meueTeumnlev 2 6o GFFLOLD 6TS7?
CH, ph
| |
[) CH,—C—CH—0) [1) ph—C—ph

1) @\
CH

2
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A) | GO B) Il (B

Q) Il L @D D) | Lo LD Il

25. Structure of the compound Which IUPAC i1s 3 —
Ethyl, 2 — hydrony 4-methyl hex -3-en-5-Inoic
acid?

OH

L
7 N

COOH

COOH

=

O
Al

COOH

a

@)
o

COOH

>
é&

IJUPAC QUWIT B - eT&H6L -2 emamiqrmserdl —4-
QUEHL Qam&eny  -3-Fer  -5-23GuIiment|S
2JLl6VLD 6TEOTLIM S GMISHE D 6mIDLIL] 6TSI?

&
o
22

&

COOH

COOH

@
L

COOH

\®

@)
e =

COOH

O
?&

26. Which of the following statements not correct for
a nucleophile.

A) Nucleophile 1s a Lowis acid

B) Ammonia 1s a nucleophile

www.Trb Tnpsc.Com

C) Nucleophiles attack low electrons density sites

D) Nucleophiles are not electron seeking

sMm&sar  allemerl  Qumeflemerry LmA

&S6UMITET &H(HSHS!?
A) s suruileny gjLdlevld
B) LG LOMenfIWIT62(H & (H& 6L T 660 60T LIQ LT (H 61T

C) 6TQEVELITITET Q& M6y GHemMmeUTerT @)L HeMS
SIS G0 &60Tem LD 6TeT 6lement LI LR 6T

D) @ emel 6TRI6L S LT TeD) 60T
Q&F6vaIH VM6V

Colq

27 Which of the following biphenyls 1s optically
active?

fe—

S
©

FL
-

%
ol

)
an

Ll

.
O

I3

£

Br Br

&

Sereumid @@ Liemereuserfley eperfls grommild
LI600T L|60) L LI &1 ?

(—

©
©

Q-
am

L
)
;

Z
O

I

&

Br Br

&
&

[ I
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28. Which among the given molecules can exhibit
tautomerism?

§) )

1)

A) I only
B)I & III
O)l&ll

D) Il & 111

191 657 62 (1H 6 60TEU M Nl 6L @) WIS FL0Mlem6v
rmMlw b Q&meor(hleTer @& TLOLD 6T&7?

) 1)

— ph
ph

11§

A) Il LG
B) | LDMouLD Il
Q) | bmoun i

D) Il omomuwo |1
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29. The IUPAC name of the compound

o O

N

A) 5 — methyl — 4- Oxohexo-2en 5-al

B) 3-keto-2-metlzlhex -5 enal
C) 3-keto-2 methyl hex — 4 enal
D) 5-formyl hex -2-en-3-one

SOILILL GsrngH et IUPAC QILIWIT 6T60T60T?
O O

i

A) 5 QLG H 6V 4 9L,5Cen T Qe en 2 FFedT 5 34,6V

B)3 BLGLIT 2 QH6L Q&6 5 FFeiT 21,6V
C)3BLELT 2 QBH6L QaQq&en 4 FFEiT 24,60

D) 5S-UIMJemL06D GlaQ &6 2 FFe0T 3 6260T

30. The most suitable method of separation of 1 : 1
mixtne of ortho and para - nitrophenols

A) Crystallisation
B) Steam distillation
C) sublimation

D) Chronmatography

QU FTHCHT MM UTTT enBLETM L6rmeusser
FBweumnlerr 1: 1 Hevemeuenwl LNfl&RQ5H& G LD
Frflwmeor (Wemm?

A) LU &HLOMHH6V
B) Bomallwimev SmUFF 6ulq &560
C) USMISLDITSH6V

D) eustorevor Liflemas
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BIOLOGY (BOTANY) Q.No. 31 to 45

31. The Non membrane bounded organelle 1s/are
A) Centrioles
B) Ribosomes
C) Both A and B

D) Nucleus

& 6U6eN60TITeV @HLoLILIL TS Q& 6V 5l 600T o0 mIL1L|(561T)
6Te0I6L 7

A) QFeTL_flGw mev&s 6T
B) em T GUITG& MO 6T
C) S LLMMILD 34, @ T6voT(hILD

D) 2 L&

32 Glyoxysomes found in

A) Wheat endosperm

B) Castor endosperm
C) Root hairs

D) Epidermis of leaf

S eneTWMEHEeICHFTIDHET SmevorLLIGeUs
A) G&MEem LD 60T 55 (IH 6, 600T &) 5+

B) 2,LD600TE: G 60T &5 ([FH 6, 600T ) &+

C) Gaurtamedl &6

D) @ emevuilent Lim&E&mev

33. Quantosomes are found in
A) Mitochondria
B) Chloroplast

C) Lysosome

D) RER
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GS6UMenoT CLTGHFMID&ET &SmeporLiLI(hleusd
A) em oL GLm&smevor L_iflwrm
B) L& Mi&H 600115 LD

C) emevBEME&FITLD

D) RER

34 Tubulin protein occurs in

A) Thylakoids
B) Mitochondria
C) RER
D) Microtubules
1qupLedleor LoD SmeoTLIL(BQeUS
A) M SV (h &6
B) em L0 L_GLT&smevor L iflwirm
C) RER

D) H1600T @)6mLD &6l
35. Centrosome 1s not present in
A) Cells of Lower plants

B) Cells of Higher plants

C) Cells of lower animals

D) Cells of higher animals
QFeTL_CIMEFTDSET @)6ummlev &mevorLILIL TS

A) BLDBIM6VS &Ml T M &6l

B) 2_WIMBlemevsd &ITeUT Mg 6

C) ELpmlemev elleumsi@ &6t

D) 2_wiiplemev ellevmi& et
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36. Ribosomes found in mitochondria and chloroplast
1S

A)70S B) 80 S

C)50S D)30S
6D L0 LG L& mevor L_fluwm LD mILD
LI & 61 856001 | &l & 61l 6V & meoor LI (hILD
MJCUTEEFMIN&SGET

A)70S B) 80 S

C)50S D) 30S

37. Identify correctly matched pair
A) SER — DNA synthesis
B) RER — Lipid synthesis
C) Lysosome — Autolysis

D) Mesosome — Protein synthesis

gl meor ©)emevoremL &6v0TL MIS
A) SER - DNA 2_mLI&H)
B) RER - a0lLILN () 2_muI&H)
C) m6VCEMBEMD — L CLTemeLE 61y

D) BGFMGETD - UTS 2 MUSH)

38 Assembly of 60S and 40S ribosome subunits
produces

A) 100 S B) 70 S

C)80S D) 20 S

60S LLMMILD 40S MTEUMGEFITLD SI6M6DOT 246V &6

@) 6eM6tOTHS 2 (HeUMH GBI
A)100 S B) 70 S

C)80S D) 205

39. Infoldings of mitochondria are known as

A) Cristae
B) Matrix
C) Cisternae

D) Thylakoids
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e GL & mevor L flinssserfleor 2 emBL Flger
A) &rfleruGL
B) LorL_iflg e
Q) FlervLrmGeor

D) 6 S60&ITIW () &6IT

40. Identify correctly matched pairs

[. Chromoplast — Contain pigments other than
Chlorophyll

II. Leucoplasts — Devoid of any pigments
[II. Amyloplasts — Store proteins
IV. Aleuroplasts — Store o1l and fats

V. Elaioplasts — Store Carbohydrates

A) 1T and 111 B) Il and IV
C)IVandV D) I and II
FrflwumsL QLIT(HIH S WL 6Ter (3) 60 650T 67 L
&etorL M WeyLd

[ @CIMGLMUIETITErUL — LIGF60& WD M5

W mBlmudlser
1. e9uL @& mifemmenvl — BImLA&eiT mmeneu
ll. jemnGeumilermervl. - s &Ll

V. &6l wComilemmeru L — 6T600T G 600T LL DML
Q&ML Gauilliy

V. @emeuGWimLilemmerul — M GUImen L G561

Gy
A) Il and Il B) Il and IV
C)IVandV D) | and Il

41. Identify correct statement with reference to
Plasmodesmata

A) Lignified cemented between cells
B) Locomotory structure
C) Membrane connecting nucleus with RER

D) Connection between adjacent cells
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Nermeu@um@Len@GulLr @mss srilwmer

Fa[DEDIM &H600TL M) &

A) QEvsErsEE  @emLuwleumesr edlgenfleor
QILIT@H eI

B) @LLUQUWITEFF &G SMeT 260 LDLIL]
C) 2 L& (medlement RER 6 L60T @) 6060078 (G50 F 616

D) &(H&(H B8 2_6TeIT Gl &F 6L & 61h & &) 6t L GLLI LI T6DT
@) 6m 60T LIL |

42 Which of the following is mismatched?
A) Cell inclusions — Glycogen granules
B) Microbodies — Peroxisomes
C) Centriole — Membrane bounded organelle

D) Ribosome — Non membrane bounded organelle

&Lh &5 600T Leumnlev TS & 6UMITS L
QUMHSSUILIL (h6memg?
A) QF6V 2 LQUMBL&ESET  — HemerGoITeaedr

&1 5 6TSH6IT
B) [BI600T 2_L 6VMBISET — QUITMTHeIGEFmLID & 6T

C) QFerLflGwmev - &Feualleormey GHLOLILILL
[ 600T &0 DI LI L| G617

D) emJGUITGEMID - SF6eUadlenTTe) GGLOLILILMS
51 00T DI LIL| S61T

43. Identify correct sequence of bacterial cell envelop
A) Cell membrane — glycocalyx — cell wall
B) Glycocalyx — cell wall — cell membrane
C) Glycocalyx — cell membrane — cell wall

D) Cell wall — glycocalyx — cell membrane

umsenflw QFev 2 emmuler  &rflwimeor

e rflem & 6ol & 6v0T L M)l 5.
A) QFLFaUe - HaenECsMBsedl&ken -
QFLFEUT

B) ®enen&BHMEHHGen -
Gl&FeL&F LAY

QFLSFAIT -
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Q) BeneanEHEREMBHNFHen -
AN T51]))

Gl&FeL &Feale -

D) Q& - SemenECeam@seidseny -

GlFeVEFIG
44 Middle lamella 1s composed of

A) Glucose
B) Calcium pectate
C) Glycoprotein
D) Peptidoglycan
Q& 6V60l60T B ML LI5S 6TSHE0TITEV 2U,60TSI?
A) S EHFHECHITEN
B) STV QuUESGCLL
C) B emendGasIm LGy L LY 60T

D) QUL CLITH evr6rss 60T

45 Match the following
Column-I Column- 11

a. Endoplasmic reticulum - (1) Stack of cisternae

b. Spherosome - (2) Store o1ls or fats

¢. Dictyosome (3) Synthesis and storage of

lipids
d. Peroxisome (4) Photorespiration

e. Elaioplasts (5) Detoxification of drugs

a b C d €
A) 5 3 1 4 2
B) 3 4 2 1 5
C) 3 | 2 4 5
D) 2 4 | 2 5
giflwmer @ememotenl 5T HRASM:

Column-| Column- I

a. eTeoorGLMUlemm& euemev - (1) FlervuLmGeor
3 (H& & SH6IT
b. e LIGI M B&FMLDSEIT - (2) 6T600T Gl6voT L, @ & M LIL]
G iy
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¢. 9519 CWMTBHFMD&ET - (3) eLILN® 2 MHUSH
Mmith G&LdlLiL

d. QUIMTEHOICFTIDGET - (4) 6R6r1&6UMEF LD

e. @emevBWImLilermeru &6l - (5) Lo b S & erfleor
B&F& HE&&LD

- b C d -
A) 5 3 1 4 2
B) 3 4 2 1 5
Q 3 1 2 4 5
D) 2 4 1 2 5

BIOLOGY (ZOOLOGY) Q.No. 46 to 60

46. A large proportion of oxygen remains unused
in the human blood even after its uptake by the
body tissues. This oxygen

A) Acts as a reserve during muscular exercise
B) Raises the pCO, of blood to 75 mm/Hg

C) Is enough to keep oxyhaemoglobin saturation
at 96%

D) Helps 1n releasing more O, to the epithelial
tissues.

2 L BH&Essarme 2 MiehFuul L UmELD,
2 SHFQefl6ar QUEBLUGS WLalls QUsss s e
LIWeTLU(H SSLILILITLOE 2_6Tengl. @b S 2,5 5260
24,601

A) gl LWlmFufleor GUME @ @ UHLIL L
QUITEHETTES Q& WwWeuLI(hHms

B) Q05555 6o mm/Hg 45

2 LISSH MG

pCO,-8&8 75
C) HerflaMCumE&Cenmliler GQ&FMley L Lemev
96% B)6L MEUSH (HHS GLIMSI DTS

D) el NGelwe) H&HEHHEHES 2AH& O-9
QevefluiL 2 58 ms.

47. If the thoracic wall but not lungs 1s punctured
A) The lungs get inflated
B) The man dies as the lungs get collapsed
C) The breathing rate decreases

D) The breathing rate increases
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memnuimev SI6V6VITLOGY DMy & GeUlT
Sememuil Ll L mev
A) BenTuiTev efs sl B M
B) mempuiyev Flem 561U M6V L0 6011 55 60T
@ m1b gl 6 (5)6u meo.

C) &aung efslh GmHmHMS

D) &eungF eisld G sFlEHma.

48. Ciliated epithelium in trachea helps in
A) Sucking inspired air in
B) Perceiving sense of smell
C) Pushing expired air out

D) Pushing mucus out

NEFFHS GLmuiey 2 arer Gmiuienw eTLl1§edlwib
Q5HG 2 Ha&Ens

A) 2 L&aIMEs SMhHenm 2 MEh&HasnHS
B) 6UITE 60)60T 2_600T [J6DI6Y 2_600TJ6USM S

C) Qeuefl&Faunss QeueflGW

5611615 61 S M (&

SMTmenm
D) GsmemLpLl QuUITpeneT (Ferflemw) Qeuerfl@w
SeTEHEUS DS
49 Which of the following statements is not true?

A) The partial pressure of oxygen in deoxygenated
blood is 40 mm Hg

B) The partial pressure of oxygen in oxygenated
blood is 95 mm Hg

C) The partial pressure of oxygen in the alveolar
air 1s 104 mm Hg

D) The partial pressure of carbon dioxide 1n
deoxygenated blood is 95 mm Hg

L9l 60760 (IH 61 60T6U M M) 6T 6T& &1 WLITET So MM BJ6V6V

A) aL&enlgarmn QUESSH60 2860l el aor
UGS WSS 40 mm Hg

B) au&enlgsieer @US5556) 28 eilegentler
LGS WSS 95 mm Hg
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o _GITEIT
LSS

Q) &MmHm 151 600T600T6D) M S61T 16V
&M M) 160 L LI 21,8 6n0l 3 60f1 601
(PS50 104 mm Hg

D) @u&erflgerhm @ USSSH60 ST L
S EHMFIL T UGS WSS 95 mm Hg

50. Pick the correct statement.

A) The contraction of internal intercostal muscles
[1fts up the ribs and sternum

B) The RBCs transports oxygen only

C) The thoracic cavity 1s anatomically an air tight
chamber

D) Healthy man can inspire approximately 500 ml
of air per minute.

Frflwner gamenms CHIHOSHH &6 LD

A2 et efleom  etaulDLem L& &6t & & erflear
FHESD N6V TEIDLISEMETLD DM MILD
LTFEUIDeLIWLID 2 WSS ms

B) FlaullL] QUSS ASWESHET 2,8 6n0lg260 60T
DL (HGLD &L & 8 60T meoT

C) 2 eaTememnLILYedr U  WOTTUEMM
SMTHHLLS GUIVTS DD 4GS0

6T60T LIS

D) 21, Gr &S WLnmeot LD 60T 1 & 60T IT6V 63(H
pIULEH DG &wumy 500 wWeved eflL
SMMHenm 2 6Terfl(WP&Ha (LPLQU|LD

51. Choose the correct combination of labelling from
the given options.

| o
LJE_W ficat

A)I- Nose, II- Bronchus, III- Larynx, IV-
Diaphragm, V- Trachea, VI- Lung

B) I- Nose, II- Larynx, III- Bronchus, IV- Lung,
V- Diaphragm, VI- Trachea

C) I- Mouth, II- Trachea, III- Larynx, IV-Lung,
V- Diaphragm, Vi- Bronchus.

D) I- Mouth, II- Diaphragm, III- Trachea, V-
Bronchi, V-Larynx, VI- Lung
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SLO&EMTH&ESLUUL LIS IV QUITIHS L0 MeoT
eTetoreuot | MG flw LUM&M&SET GSmI&SLULL
allemLenws CHIHES(H & & LD

¥ . 1\

A) I-BITE), |l-eLN & & &5 6D 61T 5> SLDEVSETT,
|l1-& T6v6UEm6T, IV-2_srell&meorid,
V-eLNF & &GS W06V, VI-Hiemguirev

B) I-BIT&),  lI-&Jeveuemer, ll-eLn&&& FHemenss
GLeV&6T, IV-BHemguigey, V-2 57618 meorLD,
VI-eLD &F & & (& LD 6V

C) I-eumul, - F&HFSHGSGLD6V, 111-(& 6V 6UEm 6T,
V-mlemguigev, V-2_s el meorin,
Vi-eL0& & & 5 6016T& (LD EVS6T.

D) I-eurmil, -2 Srelsmeord, |l-eN&F &5 &6y,
V-elNEHERM6TEH GV V-GSGJ6V6Uem 6T,
VI-memgulgev.

52. Conducting part of respiratory system extends
from

A) Trachea to bronchi
B) External nostrils to trachea

C) External nostrils to terminal bronchiole

D) External nostrils to alveolar ducts

F6UME LOGUOTL6VE H 60T S50 LGS

A) LNEFSHHGL) (NFHEV CLNEF G5 T 60 6T &LV
eUEm [T

B) QeueflliLm BITH (LNSH6L CLNFF &GS L6V UemnT

C) Qaverfllym BMTEF WSV CNFFEFHemer
[BI600T (S LO6V (LNIG6U6M L WLD @)L LD 6Uem IS

D) @euerflLILm BTFuIedmH s
[51600T600T6M (1) [HITEMIBISSET 6U6D [T

&Mool
53. In humans, which among these 1s not a step in
respiration?

A) The exchange of air between the atmosphere
and lungs

B) The exchange of O, and CO, between the lungs

and the blood
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C) Transport of gases by blood

D) Uptake of CO, by the cells for various activities.

& LD 856007 L6 D Ml 61T TS o6t B IS 6rflev
BeOLQUMID &HeumsF  Bl&waller UL Blemev
@) 6LEm6EL?

A) euerfllnetorLeuld LoMMILD BIeMTUTTeVESEHSH G
@emLGuiwimeor surw UfllormmLd

B) BIEm T USTEL&E@HEGLD QUS555 DG
@emLGuiwimeor O, LMmmuLd CO, LFllnmmmLD

C) QU585 5 er eLN6V LD 6U T W & & 61l 60T
ELSHSIS6

D) Q& 6L 6T, LI6V 2 L ME&Fwedlwev
QFwWesSmeTE GQFww CO, 8 adbh&SSH&E
@\ & IT6IT 65 60T M) 60T

54. Which structure of human 1s similar to spiracle
of cockroach

A) Nostril

B) Bronchiole

C) Lung

D) Alveolus
IneoflHeolledr  6THS SlemloLIL]  SFLILImeT
L& & udleor 61060 LT & 5l 61T S 601 61T 25
& mevor LI (D& 60T m 17

A) BTH

B) PLD & &+ & G 60 61T [Bl 600T (S5 LD 6V &5 61T
C) memyuigev

D) &mmo! [l 600TE00T6M M) 85611

55. During expiration

A) There 1s relaxation of diaphragm and intercostal
muscles

B) Thereiscontractionofdiaphragm and intercostal
muscles

C) Diaphragm contract but internal intercostal
muscles relax

D) The Diaphragm relax but internal intercostal
muscles contsant
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QeerlFaalnss s er CLIMS

A) 2 grellgnerd wmHob alleur eraublilenL s
SHENFS6T SH6TTFF 2]60)L 60T m 60T

B) 2 srallsmerid lmmid efleurm eTeudllemL &
&60) & &61T Jr(IH Ml (& 5\ 60T M 60T

C) 2. 57allsmerd  Sr(HEEG P OTMET  U,60TIT6V,

2 6T allewm eDIOLES SMFSHET
& 6T & F L 60) L 55\ 60T ) 60T

D) 2_syailgmeorLd 561 T & &\ L 60) L 55\ 60T m) 60T
aermey, ellevm eDLIeLS SeMFSHET
& ([H %l & 5B\ 60T ) 60T

56. Normal breathing rate in human 1s

A) 100 per minute
B) 12 per minute
C) 38-40 per minute

D) 60 per minute

10607185601 60T @) U6V LIMEOT SreUME ei5 LD
A) @@ Bl S5 HE& 100
B) @@ PIALSHMHS 12
0 e® Pl 55 )& 38-40
D) 2@ BILAL HH D& 60

57. Blue copper protein complex contained in some
mollacas in their plasma for oxygen transport 1s

A) Haemocyanin
B) Chlorocruorin
C) Bilirubin

D) Haemoglobin

2,5 582 60T HLESH SNEHHMTS Flev
QLeuay L e s&erfleor Llemmerunmalev & mevor LiLi(h)LD
Bevmlm ST LTSS Sal LemninliL]

A) anyGL0 & W eofleor

B) @6 @y m&emifler

C) el Ll eor

D) eany@Lom&Ger Ll eor
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58. The largest amount of CO, 1s transported by the
blood as

A) CO, in the plasma
B) H,CO, in the plasma
C) Bicarbonate ions in plasma

D) Bicarbonate 10ns 1n the erythrocytes

QUSS55 60 21H& emey CO, HLSSLLIGI6LS!
A) @r5s Uermeunmellev CO, eums
B) @u5s L Lenmeruomallev H,CO, 6urrss

O @ussll Uermevwnmaley  enUSITTLIG6TL
ENIN TS

D) @555 FlaullLamsHaertley emuUsTIL@eTL
W6l | &Hemmss

59. The amount of air inspired or expired in each
normal breath by maniscalledas ... ...

A) Tidal volume

B) Total lung capacity
C) Inspiratory capacity
D) Residual volume

L0601 556011 60T @) WIELLIMEDT 626UGIEUMIH & 6L TE &5 60T

GuM&ILD 2 GTEEMMILD  &STMmM VLS
QeueflGumILD &THMI6T Q& TETETETEY, wan....... 6T6oT
SMLSESUILGH mS

A) NEFSSHTMHMI 2 6T6Y
B) QLM& & mempuigey Q&smeremeney & meor
C) 2 L&aUMssSH medt & meor

D) 6TEH T Q& TETETETe
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60. Assertion : If there 1s no air in trachea, 1t will
collapse.

Reason : Trachea 1s without cartilaginous rings.

A) Both assertion and reason are true and reason 1s
the correct explanation of assertion

B) Both assertion and reason are true but reason 1s
not the correct explanation of assertion

C) Assertion 1s true but reason 1s false

D) Both assertion and reason are false

Fa MMl LN G &G LP6Y6L SHITMHMI B)6VEMIGV 6TEOTM TV,
218 FlenzH S el (LD

&5 T 600TLD: eLNEF G & (&P 606V S HSOSILDL]
61 60) 61T LI TBI S561T 851T600T LI LI (b6 & 6L et 6v

A) Samm MDD Srgesorld @ retor(hh  &Fifl
IDMMILD. SIJetrd Fammlmsmer &iflwlimeor
alleT&HSL0MES LD

B) Mo LOMMID &SMreorld @ oevor(H\ld  &ifl
QLEOTITEV  SITJ600TID FammiMasmeor &iflulmeor
llem& & D 2606V

C) Gamo &ifl; SITHeoOTID &6 M TETS)

D)&mm wLmmin &Srgeorld @ revor(hb
&6 M TEOTE) 6L
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